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	المشاهدة
	5
	7
	3
	9
	10
	4
	2
	8
	11
	4



نوره سيف النعيمي                  
	السلسلة الزمنية
	5
	7
	3
	9
	10
	4
	2
	8
	11
	4

	المعدلات المتحركة (4)
	
	6
	7.25
	6.5
	6.25
	6
	6.25
	6.25
	

	المعدلات المتحركة المركزية (2)
	
	
	6.625
	6.875
	6.375
	6.125
	6.125
	6.25
	
	

	مركبة التذبذب
	
	
	3.625-
	2.125
	3.625
	2.125-
	4.125-
	1.75
	
	


    
سلسلة المعدلات المتحركة بطول ( 4 ) : 

4 + 11 + 8 + 2 / 4  = 6.25
11+8+2+4 / 4 = 6.25
8+2+4+10 / 4 = 6
2+4+10+9 / 4 = 6.25
4+10+9+3 / 4 = 6.5
10+9+3+7 / 4 = 7.25
9+3+7+5 / 4 = 6

المعدلات المتحركة المركزية بطول ( 2 ) : 
6.25 + 6.25 / 2 = 6.25
6.25 + 6 / 2 = 6.125
6+6.25 / 2 = 6.125
6.25 + 6.5 / 2 = 6.375
6.5 + 7.25 / 2 = 6.875
7.25 + 6 / 2 = 6.625

مركبة التذبذب : 

8 – 6.25 = 1.75
2 – 6.125 =   4.125-
4 – 6.125 =  2.125-
10 –  6.375 = 3.625
9 – 6.865 = 2.125
 3 -  6.625 =  3.625-



